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ISD/BR 2011 Algebra II and Eduations Re-Test 25th August (a) 5(3w —5)=35
(b) —7(3+s)=-28

1. Simplify: (¢) 3z+2(z+1) =12
() 13+6xp (d) 2—3(4—-1z)=-8
(b) 5(8a +3) (e) 52w -+1) —2(1 —w) =2
(c) —3(4g—1T) 7. A rectangle is 6 cm longer than it is wide. Find its dimensions if its perimeter is 64

2. Simplify: CTI%)%A bank teller notices that he has 50 coins all of which are 5¢ or 10c pieces. e
(a) 5z + 18z

(b) 10la +121a ~ 205a

(c) 63pt—4dp+1ip —52;«1 55
(d) 17g%h 4 10gh® — 72g%h + 5h?

(e) 6zy — dyz +12

(f) 2658 38b + 13¢~<TTa — 41b + 18¢ — 25b +&%a — 3¢

3. Expand and simplify:
 (a) 2+4(a+3)
(b) 5m — (m + 8)
(c) 3(z+4)+2(z—1)
(d) 2(a~7)~3(a ~-9)
(&) ~(z+1)~d(z—1)

4. Solve the following equations: -
(a) 4p+6=237
(b) 2z+11=6x+3 .
(c) 3a+4=9—-2a

5. Solve:
" (a) 4z-5=T7

2z
(b), 3

b—w

@ 25 =6

d) p—0.88=1
(e) 2 + 456 = 9078

finds that the value of coins is $4720. How many of each must he have?
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